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T={}L

while(T contains less than n—1 edges && E is not empty)

{

[0

choose a least cost edge (v,w) from E;
delete (v,w) from E;
if((v,w) does not create a cycle in T)
add(v,w) to T;
else discard (v,w);
}

if(T contains fewer than n—1 edges)

printf(“no spanning treeWn”);
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T={}
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while(T contains fewer than n—1 edges) {
let (u,v) be a least cost edge
such thatu e TVandv ¢ TV;
if(there is no such edge) break;
add vto TV;
add (u,v) to T;
t

if(T contains fewer than n—1 edges)

printf(“no spanning treeWn”);
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distance[w] @

cost[u][w]

distancelu]

min{distance[w], distance[u]+cost[u][w]}
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/* ZISHE| SHMOU e IS EAH */

#define MAX_VERTICES 6

int cost[][MAX_VERTICES] =
{{ 0, 50, 10, 1000, 45, 1000},
{1000, 0, 15,1000, 10, 1000},
{ 20, 1000, 0, 15, 1000, 1000},
{1000, 20, 1000, 0, 35, 1000},
{1000, 1000, 30, 1000, 0, 1000},
{1000, 1000, 1000, 3, 1000, O}}

int distance[MAX_VERTICES];

short int found[MAX_VERTICES];

int n = MAX_VERTICES;

found f f f f f f

distance 0 50 10 | 1000 | 45 | 1000

<C ANs+x g=2>



Z| & A Z(shortest path) 2 112|5 — Dijkstra®s Algorithm

/* Z| & A 2(shortest path) & 1D2lIS */
void shortestpath(int v, int cost[][MAX_VERTICES], int distancel[],

int n, short int found[]) {
inti, u, w;
[* =I5t & +/
for(i=10;i<n; i++) {
found[i] = FALSE;
distanceli] = cost[v][il;
}
found[v] = TRUE;
distancel[v] = 0;
for(i = 0; i< n-2; i++) {
u = choose(distance, n, found); /*1%/
found[u] = TRUE;
for(w = 0; w < n; w++)
if(Ifound[w]) /*2*/
if(distance[u] + cost[u] [w] < distance[w])
distance[w] = distance[u] +cost[u] [w];

<C ANs+x g=2>
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choosel()

Al
T

/* choose() &= */
int choosel(int distancel[], int n, int found[]) {
int i, min, Minpos;

min = INT_MAX;

minpos = —1;
for(i=0;i<n; i++) /*1%/
if(distance[i] < min && !found[i]) {
min = distanceli]:
minpos = i;
}

return minpos;

<C ANs+x g=2>
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Distance
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selected
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